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Diagram not drawn to scale
Calculate the size of angle x. [3]
S b= @l § - et - S T, .
.................................................................................. N2 - O Nl > Y =
X = ’OSL .......... °
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2. Maria sells ribbon.
She has a 400 cm length of ribbon.
Maria cuts off % of this ribbon and sells this piece to a customer.

She uses 2 of the remaining ribbon herself to decorate a card.

5
Then, Maria cuts the ribbon that is left over into three equal lengths.
What is the length of each of these three remaining pieces of ribbon? [5]

[T
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3. A number of students took an examination. =
The heights of these students and the mark they each scored is shown in the scatter diagram
below. :
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a Height (cm)
(a) Describe the correlation shown by the scatter diagram. 1]
i NO o0\ GO
(b)  Charlotte scored the same mark as Dewi.
Charlotte is taller than Dewi.
Henri is the tallest student in the class.
Dewi and Gareth are both the same height.
Complete the table. [3]
Name Height (cm) Mark
Dewi IS 3¢,
Charlotte 63 30
Henri | T e q2
| Gareth 1S ks
05 © WJEC CBAC Ltd. (4370-05) Tul"n over.




4. (a) Draw a reflection of the triangle in the line x = 1. [2]

|| |

10 =6 |4 ] <20
(-8 [-6[-2[-7T0

(b) Enlarge the shape shown
enlargement.

L
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Find the nth term for each of the following sequences.

(@)
(i) 15,21, 27,33, 39, 45, ...

(= A T S N

4+

+e t6 +6 6 +6

(i) 30,26, 22, 18, 14, 10, ...

A, e I RN |

~ e~ e %~

£2 12

L 4 L

(b)  The nth term of a sequence is 4n + 15.
Write dewn the value of the first term in the sequence that is greater than 100

......................................................................................................................................................

T - BE
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Use a ruler and a pair of compasses to construct an angle of 45° at the midpoint of the straight |

3]

{6. In answering this question you must show all your construction arcs.

line below. = o ool i ol
Label your angle 45°. Vrad o perfendicudar bisecto

Fomnecl

then bisect Hw  qof

and
QU \C) ix(

L
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7. You will b@g@ﬂg the quality of your@tten communication In this question. | =
| Our recommended daily intake of food is often given in calories.
A small bag of 20 almonds provides 160 calories.
It is recommended that Joseff’s diet should contain 1920 calories per day.
Joseff eats a large portion of almonds one day.
It is 25% of his recommended daily calories.
How many almonds does he eat?
You must show all your working. ’ ; ) [7]
; o — :*?«.:LM
??\A ...... of..recommeded calones = JARO . Ljorf - Y
| \ 4
samé S "_; = L L0 calomes §

.................................................. > ‘\\““ﬂh(“(’ﬂuk‘d
........................................................................................ VC\‘*X’;X&(
= HC

A
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8.

(@) Solve 5x —65=3x-17.

[3]
S5x - 2x = - 17+ 65 |
a);’ == L}_!M
X, = !-L

(b) Solve =+12=28,

> ; 2
4 OK thq el ¢ d(; ‘ Nin 2]
= _‘3 + 12 = 28
............................ = Z2 282 Mo x 448 =2
4. - .
............................. - I

s K:Xip ......................................................................... L = é:L(’

1@ ........................................................................................................................................
................................................ x & 3=l

HIIIIHLI[II}IIH] ........................................................................................................................................................................................
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9. (a) Express 396 as a product of prime numbers in index form.

/
(b)  y*is the smallest square number/that is a multiple of 396.

1. x 396 =

Examiner
only

4370
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Write down the value of y. [2]
................. 9w\ e 2 x3x\
y=...Qb
M0
e 11 © WJEC CBAG Ltd. (4370-05) Turn over.
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10. (@) Express 8~ as a fraction. 1]
L
.............................................................. el Ll TRt ==t Sl NN SN
(b)  Calculate (3 x 102) x (1-2 x 103).
Give your answer in standard form. [1]
L 3
3x1:22) % [0 % IC
= 3.6 x 0
(c) Express 54 x 1072 as a decimal. 1]
YT © 5 ©.o . S
11. Rearrange the following formulae to make w the subject.
(@ t(+5w=h [2]
........................ *““‘““L
A= s Ti= L }
e —
(b) aw+3=4(bw +5) [4]

=T
LQ*Q%)

Exz

[T
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12. The probability that Daisy wears a bracelet is 0-7. =
The probability that Daisy wears a bracelet and wears a necklace is 0-63.
For Daisy, wearing a bracelet and wearing a necklace are independent events.

(a) (i)  Find the probability that Daisy wears a necklace. [2]
.............................. 5)(')\\&\1\’)'9(33
................................... ¢ "”ﬁ(
..................................................................... 3 \(,)(q

Probability that Daisy wears a necklace = .. 0=9
(i)  Complete the tree diagram. [2]

Daisy wears
a necklace

Daisy wears
a bracelet

B Daisy does not
2900 wear a necklace

Daisy wears

» a necklace
Daisy does
0452 not wear a
bracelet

Daisy does not
Il wear a necklace

(b)  Find the probability that Daisy does not wear a bracelet and does not wear a necklace.
[2]

L
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13. The cumulative frequency diagram illustrates the times, in seconds, 400 people took to unwrap

a box containing a new computer.

Cumulative frequency
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(a) How many of these people unwrapped the box in less than 10 seconds?

{ N

L
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(b) What percentage of people took longer than 15 seconds to unwrap the box? [2] o

(¢) Find the median and the interquartile range of the times taken to unwrap the box. [3]
100k 200 3ueth

........ A b Q5. G210 S€€S
f_~| 1 B | 1 .
................... cAmedan V& UA = 3235 secs

Interquartile range ..&:.5.5¢cs

AT
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14. Wilf thinks of a number, X.

His sister says that if Wilf subtracts 6 from his number and multiplies this new number by the

number he first thought of, he will get an answer of 5.

Use this information to
« find a quadratic equation [
« hence solve the egquation

n the form x> + ax + b =0, and
to find the possible values of x.

............................. e e R S N——

.......................................... 11’6>C,+L7"C

....................................... 00 [0 1D - © WA B ——

................................ ﬁh‘“’kbttl—:\
e=y 5 o8 =7 [ 5 e R

L
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15. The straight lines XAD and YAB intersect at point A, which lies on the circumference of two
circles.
Points B, C and D lie on the circumference of one circle.
Points X'and Y lie on the circumference of the other circle.
The centre of one of the circles is at O.

X
BCD = w"°.
B
X , c
D
¥
Diagram not drawn to scale
. . /\ .
Write an expression for XOY in terms of w.
You must show all the stages of your work and give reasons at each stage. [5]
- A —_— ’
................ ”w‘CF\AD:ISguhumwmes:hﬁmjte\af
................................................................................................................. cqels..qued add wp to 180
SHEShe ot ey N e 58 o e S SR e R ——
lhen XAy = 1€0-W be (ciwe o© \/éxf((c;\(j C p{)c slo
angler ae equal -
................................................................................................................... ¥ L A S
.................. _\
.................... ‘ 7\&\»\&/:9(36@)buca(v)lefc
T QL\}”S ........ = S Cu\t)‘(‘ ......... )
.............................................................. K .BOOTAW o SATCAIMESTENC
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16. (a) Express T"_:% + x—ig as a single fraction in its simplest form. . 3] | 8
-%)(?‘fib.) ........ B e e e S SIS vt =i ) b o R T
................................... S ) G S T S
CZJ;~3')(")C’rb) C11~3)(1+b)
= kxc +6) + 8 (21‘3>
(2%-3) (x-+6)
_________ =Xy flex -3l
(L 3-)('1' +6)
............................................. = © .
............................................................. e
i &/_@:C\j;_gl sc we duffeence of 2 Suce |
3 D Sk Z 2 |
(b)  Simplify 6x+10 ° < Uoe  commien (‘cf;c*c:’ [4]
...................... :(\3\)K~))\i\:[‘—-—'\l(v\,cl(p(c_&:(»l<ST(?’/('i.>) |

M
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18. (a) Use the axes below to(sketchy = x? 0. :
Mark clearly the coordingtes of any pc1|nt where this curve meets an axis. [3]
ues
l«: k(
No tob 9
|
\ ‘f‘
> X
R . - .. S
e
SN
P
A
(b) Mariis asked to sketch y = (x + 2)--09.
Describe how Mari could use your skeich from (g) to skeich this curve. 2]

Ex
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19. The diagram below shows the graph of y = sinx for values of x from 0° to 360°.
Y
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sin x =-0-7

Pleb y=ginx ... DO
Plof y=-0-1 this s bhe horzontel (e drawn i dok

END OF PAPER
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